
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.12     1) 

α)   Είναι    ΑΒ x 2,3 4 ΑΒ x 2,7         και     ΓΔ 1 5,2 2 ΓΔ 6,4        

Οπότε  ΑΒ ΓΔ 2 6 x 2 4 7 2 6x 12 28 2 6x 42 x 7                     

β)   Είναι    ΑΒ 5 3,2 6 ΑΒ 8, 4         και     ΓΔ x 1,4 4 ΓΔ x 1,8       

Οπότε  ΑΒ ΓΔ ΑΒ ΓΔ 0 8 x 1 4 8 0 8x 8 32 0 8x 24 x 3                   

5.12     2) 

Είναι      ΑΒ 2 4,5 x 6,5 x         και      ΓΔ 3 0, 4 1 3, 3        

Οπότε:       ΑΒ ΓΔ 3 6,5 x 3, 3 3 18 3 5 x 3             

18 15 3x 3 3x 36 x 12         

5.12     3) 

Είναι         ΑΒ 1 2 ,4 1 1,5         και      ΓΔ 6 4 ,x 3 10,x 3       

Οπότε:    ΑΒ ΓΔ AB ΓΔ 0 10 5 x 3 0 5x 5 0 x 1              

5.12     4) 

Είναι    ΑΒ 6 x, 6      και     ΓΔ 8 x, 4 4 8 x, 8        

   oA 90 ΑΒ AΓ AB ΑΓ 0 6 x, 6 8 x, 8 0


                

   26 x 8 x 48 0 48 6x 8x x 48 0              

 2x 2x 0 x x 2 0 x 0 ή x 2          

 

 

 


